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(1) ax ~+ bx
2) 24a’b + 12ab? + 6ab
(3) a’ — 5a — 6

4 a? — 2ab — 15b

(5) a’ + 4a + 4

6 x2 — 16
(1) a2 — 16ab + 64b°2
(8) a2 — 4a — 5

9 x2 — 16y

(10) x? — :; X — :;

(11) x? — x +%

(12) x? —6—94y2

(13) 4x2y? — 49 22

(14) 49a% 4+ 14ab + b’
(15) 4a’ — 36

(16) 81y? — 90y + 25
(17) 3a? + 21a + 18

81 o 2
(18) 29 ° 0.09b
(19) 36y2 — 12y + 1

(20) 2x2 — 4xy + 2y 2
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(1) ax + bx x(a+b)
(2) 24a’b + 12ab’ + 6ab 6ab (4a+2b+1)
3) a’ — 5a — 6 (a+1)(a—86)
(4 a? — 2ab — 15b°? (a+3b) (a—5b)

(5) al + 4a + 4

6) x2 — 16
(1) a? — 16ab + 64b°
(8) a2 — 4a — 5

@ x?2 — 16y

(10) x° — s X "6

(11) x? — x +%

(12) x? —6—94y2

(13) 4x2y? — 49 22
(14) 49a% 4+ 14ab + b’

(15) 4a? — 36

(16) 81y2 — 90y + 25

2 4+ 21a + 18

(17) 3a
(18)%a2 — 0.09b 2
(19) 36y2 — 12y + 1

(20) 2x2 — 4xy + 9y 2

(a+2) °

(x—4) (x+4)

(a—8b) °

(a+1) (a—5)

(x+4y) (x—4y)

u—%)u+%o

u—%ﬁ

u+%w(x—%w

(2xy+7z) (2xy—17z)

(Ta+b) °

4(a+3) (a—3)

(9y—5) 2

3(a+1) (a+6)

9 9
— a+0.3b) (—a—0.3b)
( e ) ( e

(6y—1) 2

2(x—y) 2
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(1) ax — ay

(2) 56x2y — 56xy2 + Txy
3 a’+ 8 — 9

@ x2 4+ o9xy + 8y?
B x? + 2x + f
6 a’ — 16

(1) a® — 8ab + 16b
@ a’ — 8a + 7

9 a2 — 64b

2 1 1
(10) x 5 X 5

2 1
(11) a a + 2
(12) a2 _ 64 2

9

(13) 49x2y?2 — 4 22
(14) 64a2 — 16ab + b?
(15) 4a? — 36
(16) 16a? — 24a + 9

(17) 5x2 — 55x + 90

9 2 _ 2
(18) 16 ° 0.04b

2

(19) 16x° + 8x + 1

(20) 5x 2 — 60xy + 180y ?2
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(1) ax — ay
(2) 56x 2 y — 56xy2 + Txy
3 a’+ 8 — 9

@ x% 4+ o9xy + 8y?
5) x? 4+ 2x + 1
6) a’ — 16

(7 a? — 8ab + 16b
8 a’ — 8a + 7

© a? — 64b

(10) x° — s X "6

(11) al — a +%

(12) a? —%bz

(13) 49x2y? — 4 2?
(14) 64a® — 16ab + b’

(15) 4a? — 36

(16) 16a >

— 24a + 9
(17) 5x 2 — 55x + 90
(18)1—96a2 — 004b 2

(19) 16x% + 8x + 1

(20) 5x 2 — 60xy + 180y 2

a(x—y)

Ixy (8x—8y—+1)

(a—1) (a+9)

(x+y) (x+8y)

(x+1) 2

(a+4) (a—4)

(a—4b) °

(a—1)(a—7)

(a+8b) (a—8b)

(x—%) (x+%)

@—%)2

@+%bﬂa—%b)

(Txy+2z) (Txy—2z)

(8a—b) °

4(a+3) (a—3)

(4a—3) *

5(x—2) (x—9)

(%a+0.2b) (% a—0.2b)

(4x+1) 2

5(x—6y) 2
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